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Candidates are required to give their answers in their

1. Answer any ten questions:

own words as far as practicable.

2x10=20
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a)

b)

d)

Define GDP deflator.

GDP *if® gi 50a el (@14 |
What is the difference between GDP and GNP?
GDP @3k GNP-71 sty Ny 52

What is the difference between GDP at factor
cost and GDP at market prices?

GDP at factor cost €38 GDP at market prices -
a7 e A 6 e

If in a country only market prices change but
the level of output production remains

unchanged, which of the following would be

[Turn over]

g)
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affected and why — (1) Nominal GDP or (i1) Real
GDP?

I @ (T (FIETNG B A9 HE ARTS
905, g ANlEe TAMeTR (Fie sifaasa 7 w0,
©IZesT (1) Nominal GDP @<} (i1) Real GDP-%
A FI0A ToF PO AT G (T 2

If in an economy the value of Marginal
Propensity to Import (MPI) is 0.10 and the value
of Marginal Propensity to Consume (MPC) is
0.7, what would be the value of investment
multiplier? [Assume the situation of lump-sum

taxes]

W FTe @t AifeF Sismife @<eret (MPI) 23 o.50
g2 AfGF (o9 &@3eel (MPC) =¥ 0.9, GICHGE
ffciel wo@a I F© @2 (lump-sum F9 [

SEfre)
What is Transactions Demand for Money?

Transactions Demand for Money J&1¢e & (iR 2

What would be the shape of the LM curve, if
people hold money only for transaction purposes

and there is no speculative demand for money?

W B (TG D6 Gy oL vifer T @
e @IS FioH! Bifen 7 A, OFE LM @1IF

IS (I 22
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What are the main determinants of investment?
Rt 3o e e Ree

What is value-added method?

Value-added #i&fs eTco 6 (@02

What is meant by mixed-income?

fr-or e e

What 1is the difference between Gross

Investment and Net Investment?

Gross Investment @3¢ Net Investment-a43 “<<y
0

What do you mean by unplanned inventory

accumulation?

SAFES BB ALY e T QI 2

If Net Income from Abroad is negative, which
one is greater GDP or GNP and why?

I Net Income from Abroad ANe<s 3, ©IEE
f&fefsr uzr feragafsia Tt @t I8 @R @ e

How does the purchase of a second-hand car
affect GDP?

GI6 FIS e 9N1fed o1 Tl Feir aeifke
FAE?
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0) Should students’ fellowship be part of GDP or

not? Justify your answer.

i el [ fEffez ot zem Shee
e TerEa 79T Y@ nie |

Answer any four of the following: 5x4=20
@I RS &ess Ted mls ¢

a) In which of the following situations the value of

investment multiplier would be smaller and why?
Situation 1: Closed economy with lump-sum taxes
Situation 2: Closed economy with proportional taxes

fasferiee gt s s (@i cwea [iNael gl
W PANETRCIE T F(A @R (o ?
TRl SeEifes Afienai @t ¢ @A lump-sum
SSISISERSICY

gl & OeEfEs afiewds 9 o @E
proportional 9 JIZ! (= |

b) Suppose in an economy, to boost the investment
demand the government decides to lower the
interest rate but despite a reduction in interest
rate investment demand remains unaltered. What
can explain this situation? [Answer this question
using economic concept and also demonstrate

the situation with appropriate graph]
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Explain the concept of Balanced-Budget

Multiplier.

Balanced-Budget @¢s «i=elifG i< 4|

Under what conditions an increase in saving
propensity would result in a fall in aggregate
savings? Justify your answer.

(IR ARRISTe AL e7eio! qeens ANias JeEE
AT SN @S AH 2 TemF FoAeE & wie |

Demonstrate the product market equilibrium in

the Simple Keynesian Model.

Simple Keynesian Model~4 #{te1< Ieitds SNy
SE! SO 9 |
An economy is characterized by the following
functions: C=50+0.8Y; I=200-0.2r and G=500.
Find the equation of the IS curve and its slope.
3+2=5
g T, @3 oem wddGifen oweg Efifis
AqFeef e C=50+0.8Y; 1=200-0.2r @}
G=5001 €& @ IS (@I NP G O Bl
fef =11
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3. Answer any two of the following:

10x2=20
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a)

b)
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Construct the IS curve using four quadrant

structure.
516 quadrant-= R IS (4l 910 F9 |

Show that the presence of proportional taxes as
opposed to lump-sum taxes works as a built-in-

stabilizer.

2*fq F9 (@ lump-sum FF HIZIF WA proportional
9 3 AFE @A TLAfeF Fae! SREE o
G SEAe GBI TO FE I |

Suppose that for a particular economy and
period, 1=100, G=75, T (net taxes)=100, and
C=25+0.8 Y, where Y represents disposable
income and Y is GDP.

1)  What is the equilibrium level of income
(Y)?

i1) What is the value of government

expenditure multiplier?
111) What is the value of tax multiplier?

iv) Suppose that investment declined by 40
units to a level of 60, what will be the new

level of equilibrium income? 3+2+2+3=10
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Yo, (ICHCE T RPN SR il o
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Critically analyse whether we can consider GDP

per-capita as a good measure of welfare of the

people of a country.

SIS [oaael §7 @ Me-forg. &eeH-
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